## RESOLUTION AUTHORIZING THE AWARD OF THE PARK AVENUE BRICK SEWER REPAIR AND LINING PROJECT

MOTIONED BY: Friedrich SECONDED BY: Marotta

**WHEREAS**, the North Hudson Sewerage Authority (hereinafter "Authority) is a public body, duly formed under the Sewerage Authorities law, constituting Chapter 138 of the Laws of New Jersey of 1946, as amended (Chapter 14A of Title 40 of the New Jersey Statutes Annotated) and possesses the powers set forth therein; and

WHEREAS, the Project consists of lining approximately 60 LF of 36-inch brick sewer south of the intersection of Park Avenue and 4th Street, and 100 LF of 36" x 42" brick oval combined sewer at the intersection of Grand and 7th Streets in Hoboken, NJ. In addition to the Cured in Place Pipe (CIPP) lining, work shall include bypass pumping, traffic control, pavement restoration, and all associated site work; and

**WHEREAS**, pursuant to a solicitation of bids for the Park Avenue Brick Sewer Repair and Lining Project, two (2) bids were received with the lowest responsible bid from National Water Main, Kearny, NJ, in the amount of \$188,204.78 as compared to the Engineer's Estimate of \$119,290; and

**WHEREAS**, the Facilities Review Board has reviewed the bids and recommends award of the contract to National Water Main, Kearny, NJ, in the amount of \$188,204.78.

**NOW, THEREFORE, BE IT RESOLVED** that the Authority approves the award of a contract for the construction of the Park Avenue Brick Sewer Repair and Lining Project to National Water Main, Kearny, NJ, in the amount of \$188,204.78.

## **DATED: SEPTEMBER 21, 2023**

## RECORD OF COMMISSIONERS' VOTE

	YES	NO	<b>ABSENT</b>
Commissioner Kappock			X
Commissioner Marotta	X		
Commissioner Gardiner	X		
Commissioner Friedrich	X		
Commissioner Guzman	X		
Commissioner Velazquez	X		
Commissioner Barrera	X		
Commissioner Zucconi	X		
Commissioner Assadourian	X		

THIS IS TO CERTIFY THAT THIS RESOLUTION WAS DULY ADOPTED BY THE NORTH HUDSON BOARD OF COMMISSIONERS ON SEPTEMBER 21, 2023.

SECRETARY

## NORTH HUDSON SEWERAGE AUTHORITY

1600 Adams St. Hoboken, NJ 07030 (201)963-6043 Fax (201)963-3907 nhudsonsa.com September 13, 2023

Don Conger, P.E.
North Hudson Sewerage Authority
1600 Adams St.
Hoboken, NJ 07087

Re: Park Avenue Brick Sewer Repair and Lining Project Bid Results

Dear Mr. Conger,

On Thursday, September 7, 2023, bids were received for the above referenced project. Two bidders submitted proposals: National Water Main of Kearny, NJ for \$188,204.78 and Spiniello of Livingston, NJ for \$216,400.00. The Engineer's estimate for this project was \$119,380.00. After reviewing both competitive and responsive submissions along with the Engineer's summary, the apparent low bidder is National Water Main with a bid amount of \$188,207.78. The procurement and technical review are now complete. Proposal may be presented to the Facilities Review Board for Authority Board approval.

Please note that final contract award approval is subject to legal review and bond insurance requirements.

Very truly yours,

Belissa Vega, QPA

Cc: Linda Kish, CFO

Jason Capizzi, Esq.



Ms. Belissa Vega, QPA North Hudson Sewerage Authority 1600 Adams Street Hoboken, New Jersey 07030

> North Hudson Sewerage Authority Park Avenue Brick Sewer Repair and Lining Engineer's Summary of Bids Hudson County, New Jersey

Our Reference Job # 101715 September 13, 2023

Dear Ms. Vega:

Mott MacDonald 111 Wood Avenue South Iselin NJ 08830-4112 United States of America

T +1 (800) 832 3272 F +1 (973) 376 1072 www.mottmac.com/americas Please see attached Engineer's bid summary for the Park Avenue Brick Sewer Repair and Lining project. The apparent low bidder, National Water Main Cleaning Company's bid is \$68,914.78 higher than our Engineer's Estimate indicating the North Hudson Sewerage Authority received competitive proposals.

In our opinion, National Water Main Cleaning Company is a reputable company that has demonstrated the ability to successfully complete the work on similar projects.

Should you have any questions regarding the above, please do not hesitate to contact me.

Very truly yours,

Mott MacDonald

Kevin, P. Wynn, PE, BCEE

Merin Wom

Vice President

T 973-912-2537 F 973-912-2422

Kevin.wynn@mottmac.com

Cc: Donald R. Conger, III, PE, NHSA

Linda Kish, NHSA Jason Capizzi, Esq.



North Hudson Sewerage Authority Hudson County, New Jersey Park Avenue Brick Sewer Repair and Lining Bid Canvas September 13, 2023

					Engineer's Estimate				ain Cleaning Company	Spiniello Companies 354 Eisenhower Parkway, Livingston, NJ 07039		
Item	Description	Estimated Quantity	Unit	U	nit Price		ended Total Amount	Unit Price	Extended Total Amount	Unit Price		nded Total mount
1	Mobilization of Equipment, Materials and Labor	1	LS	\$	3,000.00	s	3.000.00	\$ 2,500.00	\$ 2,500.00	\$ 15,000.00	s	15,000.00
- 1	monitorior or againment, materiale and adoc	1		H	-,	Ť	0,000.00	, ,,,,,,,,,	2,300.00	- 10,000.00	Ť	70,000.00
2	Cured-In-Place Pipe Lining											
2a	Cleaning, Repair and CIPP Lining of 36" Brick Sewer	57	LF	\$	240.00	\$	13,680.00	\$ 1,157.54	\$ 65,979.78	\$ 1,350.00	\$	76,950.00
2b	Cleaning, Repair and CIPP Lining of 36"x42" Brick Oval Sewer	100	LF	\$	750.00	\$	75,000.00	\$ 763.15	\$ 76,315.00	\$ 850.00	\$	85,000.00
2c	Reinstatement of Additional Sewer Laterals and Connections (If and Where Directed)	10	EA	\$	100.00	\$	1,000.00	\$ 10.00	\$ 100.00	\$ 150.00	\$	1,500.00
3	For Transportation and Disposal of Hazardous Material (If and Where Directed)	10	Tons	\$	50.00	\$	500.00	\$ 10.00	\$ 100.00	\$ 45.00	\$	450.00
4	For Base Course Pavement Restoration, 19M64 Hot Mix Asphalt, 6" Thick (If and Where Directed)	10	SY	\$	45.00	\$	450.00	\$ 500.00	\$ 5,000.00	\$ 500.00	\$	5,000.00
5	For Surface Course Pavement Restoration, 9.5M64 Hot Mix Asphalt, 2" Thick (If and Where Directed)	10	SY	\$	50.00	¢	500.00	\$ 500.00	\$ 5.000.00	\$ 500.00	¢	5,000.00
,	Tor Surface Source Favement Restoration, 3.3mo4 not mix Aspiran, 2 Trinck (if and where Directed)		- 51	·	00.00	Ψ	300.00	φ 300.00	ψ 3,000.00	ψ 300.00	Ψ	3,000.00
6	Milling, 2" Variable Depth (If and Where Directed)	10	SY	\$	15.00	\$	150.00	\$ 500.00	\$ 5,000.00	\$ 150.00	\$	1,500.00
7	Traffic Marking Restoration (If and Where Directed)	20	SF	\$	5.00	\$	100.00	\$ 165.00	\$ 3,300.00	\$ 50.00	\$	1,000.00
8	Allowance for off-duty Police for Traffic Control	1	Allowance	\$	25,000.00	\$	25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$	25,000.00
						<u> </u>						
	Constitute	1					440 200 00		ć 400 204 <b>7</b> 0		_	246 400 00
	Grand Total			ll .		\$	119,380.00		\$ 188,294.78	1	\$	216,400.00